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z‘reared as case of unfazr means

Q1. What isa prestressed concrete? How 1t is dlfferent from remforced eoncrete" Expia_ili 'Why high '
strength steel and concrete are used for prestressed concrete? )]

§ ‘an eccentricity at A and is bent
C-line due to prestresss-alone. P=

- ®

QZ .For COnfinuous prestressed coner'ete beam {Fig. ()], the terid
sharply at D and B and has a parabohc proﬁle for span BC::
IOOOkN ' '

Q3 Flg (b) shows sectlon of a prestress concrete beam: of spéan 9m The beam has fo carry a
super:mposed load of 20kN/m. The prestressing force is transmltted by tendons in two cables. In each
cable tendo ‘consists.of 14 wires of Smm dlameter subjected to an initial stress of 100N/mm?”, Analyms"
the beam: section at the center for the stresses ‘induced before and after the application of the
superlm'pos'ed load Allow 15% loss of prestress : (7)

Q4 Explam Freyssmet system of prestressmg Comment on advantages and dlsadvantages of
thls system. o : S )




calculate the Ioss of prestress due to frlctlon g1ven the fol "w g 'data p=0. 55 K—O OOIS/m durmg
'anchormg if there is a slip of 3mm at the Jackmg end ca
: prestressmg loss of prestress due to frlc‘aon and slip,

)

Q6 ‘Fig (c) shows the- sect:lon of a prestressed, concrete beam -of span 15m. The beam is
prestressed by 36 wires of 7mm diameter ccommodated in 12 cables as shown in the Fig c. The
initial prestress in the wires is 1000N/mf?, "The beam has to carry a live load of 20kN/m.
-Determine the extreme fiber stresses_k in concrete for mid span section for the condition when
losses is 15% Densﬂy of concrete-is 24kN/m 3 L M

Fig (c)

he final force in the cable and the'
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